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1 Discussion on the scenarios
Open issues:

· TR skeleton: R4-150296
· Discussion on scenarios
· Objective 1 scenario: legacy scenario

· Objective 2 new scenario

· Present the WF on new scenario

· ITRI: Tunnel scenario R4-150018
· Can we prioritize the scenario?

Discussions:

· TR skeleton:
Intel: Separate the RRM study based on objectives. What is our final purpose on this one?

Ericsson: we have list objective 2 in the study item. The goal of objective 2 is to identify the scenario. Should add some prioritization.

· Tunnel scenario and channel model: ITRI R4-150018
ITRI presented the paper of R5-150018. The comments and replies are:

Observation 1: The performance of RSRP and RTT wil become worse in the long tunnel environment for the high speed train secnario. 

Proposal 1: High speed (speed>250km/hr) and long tunnel environment should be considered for the high speed train secnario.
Mediatek: What is the channel model? From the paper,we can see the RSRP performance. Based on our HST model, we do not see the performance loss. Is it possible for operatoer can provide more input.

ITRI: we will provide more data about the tunnel impact

ALU: You mention all the users are served by the small cell. But small cell coverage is limited. We focus on UE performance requirement instead of BS requirements.
ITRI: CPE on the train.
Ericsson: Clarify what is the main problem,  inter-cite handover problem or demodulation problem along the track?

CMCC: in the paper, ITRI also mention the RLF problem in tunnel scenario. For ALU, is it CPE on the train not small cell on the train?
Ericsson: I agree with the previous questions. If the problem is RLM, that could point to RRM direction. There is other direct for demodulation work. We worry about the time budget. There will be a lot of work.
· Discussion on WF drafted by Huawei
Huawei presented the way forward and there are 4 scenarios included. 
Questions and comments are as follows:

Qualcomm: we would like to under whether we should cover all the scenarios or down-select some scenario. For repeater scenario, it means UE will under repeater coverage or under Macro.

Samsung: CPE scenario is the LTE on the train. IT would be the typical scenario.

Ericsson: What is for the first objective 1. Keep in mind the 0.5TU. We do not mention the speed. It is good to see the whole package.

Intel: we would like to have more background about the scenario such marketing opportunity. Do we see if the UE can satify the high band and people worry about the lower band. What is the intention behind the WF. Whether we should handle all of them.

CMCC: the intention of WF is to summarize the views from operators and what is the impact.

TelecomItalia: Scenario 2 and 3 was deployed. To Samsung, inside the train there would be leaky cabels. Regarding the frequency, we are OK to consider higher band.

Huawei: For the scenario, it is not only interest from operators but also commercial deployment. The deployment corresponding to the scenarios has already been there. As the co-rapportuer, we should consider Objective 1 for sure and we should handle them together. Intention of WF is to identify the scenario.

Intel: I understand that different operators had different deployment. WE do not want to over define the requirements. These requirements will impact the UE power consumption. Higher Doppler shift is very challenging. We are fine to consider the scenario suggested by operators. We should define the channel model for each of them, which is time-consuming. It is really to complete all of them in the SI.

· Down-select the scenario:

Qualcomm: in our view, channel model for this scenario can be covered by the existing scenario. We could not make any decision based on the current information.

NTT: This way forward just summarized the scenario proposed by operators. Without any information make decision would be difficult.

Ericsson: Scenario 3 had been covered by the existing channel model.

Qualcomm: do we need the requirements for all the scenarios? We do not want to define the scenario dependent requirements.

Ericsson: Look at the total system solution. We had concern about the work. The work load is large, e.g. including RRM procedures. It is fine to spend time on the first scenario. But we worry about that in the end we could not get anything.

CMCC: it is too early to down-select the scenario. 

Qualcomm: One meeting is not enough to reach conclusion for down-select of the scenario. IT will be conclusion out put from SI.

CMCC: which scenario is not accepted?
Qualcomm: we need more time to consider the scenario.
Ad hoc Chair: Qualcomm want to first get input on scenarios from operators and then do analysis and try to identify whether there is any issue for those scenario. If issues were identified, we can do more work.
Huawei: Maybe Qualcomm could not accept all the scenarios. Encourage Qualcomm to provide more analysis for the scenario.

Qualcomm: I did not say that we do not support the scenario. 

Intel: Probably different companies had different views on the channel, such dense urban scenario… If other companies bring in other scenarios, how can we do?

Ericsson: the details about scenarios are useful. Try to see what is the bottleneck?






